EARAROBREBRT —5 XN—ZXBISH—F

2022668198 (H) 3EFR#2H

(L TSR 3m  KEF LS

\(9&1@1 n ‘[%EH?’JF&] | & 1000 =

[x&%] 1 7&:5,200,000 @ .~ 23&:2,100,000 @ 3 & :1,300,000 M

/4375 :780,000 5 37&:520,000 F

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N 3 | JNRAIZ 1:25.6 3-5 38.4|83.2 | 4 | 48 |HMKEE (FR)
WIALH—b e 2520 ) © W o2
R T709— BAXHURVAI— LB
95 s 3 | RHEE 1:25.7 1=1 38.8| 825 | 2 24 | KRARES (FR)
V—=rasEatlb 54.0 M e | @ TR ALY
Ri—=5—yvF BZFUFPY HBEIT7—L4A
— 0~ MRt :25. — . . ml&Ee (FR)
F—2=yYy 3 | B 1(32/5:1)8 13-10 [38.0| 81.4 | 5 z:g;) e
RIIET7RA7 B:RILNFST—LA B BE—
D \gn_z\ 5 = ;_ﬂ:
Y=V VT4 4 3 ;Eg . 1(.12/52.)9 3-2 38.8| 80.7 | 7 (4;3) igém (EH)
RFAIXTv— F:VIZVNEFR SRS
S A= A ANE : - SHE— (FH)
5| gl15| DA RRT 4 i3 B 1.(216).1 16-16 | 37.5| 78.6 | 16 (43;; o
RiRSSAYFT B:AVTIL—RRF ¢ /=Y ITr—1L
95 EHER :26. = . . FHE— (ER)
61816l Trvvz7Yo 380 i A e K IR I e
RiF4—=FAVNT~ B I-vyUPILY SERIS
= s 3 | JIZERE 1:26.2 6-5 38.9 | 78.1 1 506 | RERA (GER)
71713 TAMLZ TS VA 54.0 ) (1) | DIFNR—WF VTR ()
R:O—RAHr+rO7 B:7RIAVTvF— /=Y IT7—L
=5 —3 4 3 | BEHED 1:27.0 8-8 39.4| 716 | 6 458 | JEHAA (ERR)
810177V 7—Yz %53.0 ®) ) | @ JRIF—5S5TLwRR
RFIRAFIIN §:5T1— B OUHs
S, — K=EET :27. - . . EREET (FER)
91 2|7IT7YSAF— R N e e ey T
RFIPITRATVR BikwId—/NTa—L4 St
S [ 10, o AET :27. - . . ABERE— (EXR)
10 6| Iy RN=—E— 4 3 R 1(32/74)2 9-11 39.3] 69.8 | 13 (4_420) i
RiAASR=Z—5 B:U—XRFUIVK 1—hETHES
o R BRERX :27. - . . REE= (FRN)
15| 9| ROR=—5 [B] 3| B8 1 (217) 4 3-2 40.3 ] 69.0 | 14 (45320) mmiﬂmﬁ
RAASKRZI—9 B:RAT4IO—R ERIY R
v =y s 3 | AEE= 1:27.6 10-8  [39.7]66.8 | 11 | 462 |=SE RR)
1215110/ /N7 205wt 54.0 a 1/4) ) | B EvILyRIZ—L
RiF4RAIU—bFrvv b B:1RA—KUUYT RS
~ RE#RC :27. - . . PARE (FER)
1307 a| =Ws T T i3 5 1(72{:)6 14-14  |39.3| 66.4 | 12 (4_123) e
RINS—N\DVR BFIYURT Y b TIITHS
S = TEHE :28. = . . EREE= (FER)
14 NEE=EES 8 3 B (12218/2(; 10-12 [ 39.9] 63.7 | 15 (4_03 il
R:SUA—T B:AFAYIAN—h 75> Riis
S, e — st 3 | EEMF 1:28.2 14-14 [39.7| 61.8 | 8 45) | REBRIZ (B
1508 12| H—ILXIND 540 a 1/4) () |WFRF
R:O=IRAA VAL B H=ILAR—=U— DEsie]
< o )| | ER A : - HEFRe (FER)
16 g | F v RILARU— 380 b S e Rl B Il =
R TI709— B:YAUFvURIL bk e
[ BN
En'w 51.1-38.7
NOVSA L | 12.4-10.6-11.5-12.4-12.5-12.5-13.7
@ 11— —B&IEfI
13— —
20—F—
30—7— (+4,8) (5,9,7) (16,13)1,6(2,3,10)11(14,12) -15
43—F— (+4,8,9,7) (5,13)16(1,10)11,6(2,3) (14,12) 15
o ILRE
BB 5 1,090 JA R 4-5 770/ e B 2-3 1,760 3EE 4-5-11 7,050
B B 5 290MH4 5-11 1,860M3 5 & 4-5 2,140 3EH 5-4-11 43,4504
4 180 4-1 900 =51 5-4 5,550M
1 330

ABIC OV TRUTEREERRODDZE. THRIIZEL.



